o B C
l he_ ‘FOT‘\(Y)Q/( The Tnewitive The applications
Lo%icad content backgound

Des

If sample space for om experiment is o st S with the popety that coch  Physiced Outcome of the experimont

Cowesponds  to exactly one element of S An element of S is called Somplepoint.

Ex

Drﬁt(/ bution of +tuwo beilts i Bwee cels

Labl-1-] uiad bl-2 8-l b3

2 {-ladl-3 seal-1b} e fbl-103 { Sampk Space [S1/T7]
2{-lapl elblal3  qf-1b|ad -

10f 9 sawmple Points
A=11,2,3%- one cedh s wactually Occupied

B-The fist cem is nor empty. => U1,4,56,8%
Every celh is occupied. € impossible event
C-"a is in the first cext-> {14, 5%

Def

finy subset of o sowple space s colied an event The empty set & is calied “the mpossible see”
S s coled  the ceAuin event

Ded

Tha event comsw’St’ma of al Points  nce Contained in  event A wild be coltes the Q@mp)emmw\/ event of A and
Wikt be denctea [A‘]/[ﬂ_] In Pareicular 5"” s

Ex

B - The frse cent is ermpty. 12,2293

The cqgregate ©F the sumplepoines  Lohich  belong to al the given Sets, #BC, Wil be denoted by AoBeC ond  Colled
the intersection or Simwltamious reolization

Ex
[ANECEREE!

S




Def

/Hne, Ggqregone o€ the samplePoints which bdanj to at ALeast. one of the given  sets, ABC, will be denoted [HoBeC

ond  callea the Wnion

Ex
o= $£12.3.4,5,6, 93

5\ AvTdvC
D

1 et

[he event AB,C are mutuadly exclosve if No two have o @oint in  Comon.

Ex

B and B are  mukvally exclusve BB =

S@@
)

TDed

f/he Symbols  AcB  ond 224 Signify that every point of A

is contcaned in T3 A tmplies B, "B s implies by A

M

X - Coi toss, 3 wadom  tesses.

S-tH HH, HHT, HTH, THH, HTT, THT, TTH, T3
- Two or wore H

E- Jusr_ one T

[

Number of woys A con occur

P(A) = Nunber of oys the exparimet Can poceed.

PD)- 3-2
Ple)-%

M— Number of +tmes event A  Gecured

Q@(aﬁ?ve {'re_cluemc\/ approximeion, PCA)= omber of tines experiment Wos ron




Xioms o ity
Lee S dencte o zumple Space Pl
P(ﬁ)%@ {or every event A

L&t 4a,, 0.4 be o Fmite or infinite coltection of MutuGlly  excLosive events. Thepn ’P(QHANA;.):/P(Q Q‘)’P((_L)/P(AZ)«—.

ZPA)

ﬂ.e_o_r_ems

Pa)-1PA)

Proof

PR)PA)-{ox 35=P(AH)-P()= {ax 111

U\A?\JH

1

-0
Prock
P)={50-5 1= P(S929)= $ 507 -O% + fax 33- P(S)+P()

Plave)-P(A)P(B)-P(AB)
Proof
P(g%?(@): fox 33-Pa-B)P(AB)+ P(Brp) P(BA)- PLAB)P(AB)

A=(RaB)o(AB)

Det

Lee A ana B be evencs fuch thar  PUBY>O. The condrionel Pobability of A guen B dencted by PLAIB) is
defined by PLAID)- P(B)

Ex
P(AIR) e S
The outcome witz be in
D = = .41 a
;(CABRB) j ,} 5 55 &\\& p(ﬁl@)
/P(H) =3



5—5 L Prev Lecewe

@rﬁtﬁ bution of twe bolls n Hwee celis.

Lokl 11 w{albl-2 2$-lo b?
2 {-lobl-3 stol- 16} e i bl-1od z [s1/1a]
2 (-1 lah? ciblal-2  af-1blad

A=11,2,3%- one celh s watually Occupied
B-The fist cem is noe empty. => U1,4,56,8%
Every ceth is occopied. € Impossible event

C-"a is in the firse cer=> {14, 5%

Ee‘p il cws ongy 1
hY
1) E\/@MS A and B e idependent. iff ?<ﬂ”%>:?(ﬂ> P(E)
2) et A cnd B be cwents sueh thae at Lecst one of PLA) or P(R) is non-zero. A ond B are indeperdent
i PAIR):-P(A) if PR+ O, and P(BIA=PB®) if P(A)2O

Ex

PlA)-3-3 PlO)-F-%

(PCB>: % pCH”C): % ‘?(9) Plo) , A and O are inde pendent
PAB)-5 732

Ex_
Gitven thee: KPCJ_)'-%
P2)- .= Pa)- %

PLAY-PO- PPk £ &
PLOY-PUIPL) P — 11—+
FAQ)=P(1):=2 = P(A) P

S
3
5
B

Let B, Br,,Ba be suh thate B0 . 0Ba-S cnd BieB 70, (41, with PBi)>0O for every i Then for any evers
A, PlA)- 2 PlaIry) PR

Cx

5 - is in the Eirst cent
Pr-00 — ' — Secoma ced
Pe-OC — "= thid cel

P()-PBIB) P -14-3 8438

Thg orem (Bayes)
llee BB, B2, Bn be o coltecsion of wutually exclusve events Such that BiRi=S ana PBO f¢ ol i

llee A be cn event wohshor  PASO

PAR) P(®,)

P, | a): Ernsore



Ded. Yondom varicble

X s the Yandom vancble if 1t s the furcsion {rom the Somfe space S to ehe reod numbers

Ded

The Yondom number & drcrete if it takes fnite or at Mose cowmode number of valves. Te' its vadues
can (in principel) be Lised.

Kemack T Qcmof k_TC

IN-10,12,3..% Rendom function” = o bewer name  for X
Z-1.52-2-1,0,1,2.73

Q-1% PeN,gez, 9403 The function is determenistic | but e chese events ot TGNdom
R; QY Tirationed numbers

Pic
>< iS5 the yondwm vancble thot tokes a sample point  and  recurns  the Number of Tntersectin

Lines.

X()1 x(x)-2 Pl Peo-t

()1 x(X%)3 B()=0 =Pl PCI P P-4
X (1)1 Grgqument of A Px=2)- 3

X(+)-2 Px-2)-¢

(:nven ony event A, define. INdicaeor rowndom voricble Eﬂm{_L

1 cgual 1 on evemt A cnd O otherwise If A Ay An ore events  then K:EL‘ IS the nNumber of the events

that  occure

T

Ex
SZ{HH, HT, TH,TT3, Ccoin tosses of fair comn
A- One heod in tuo tosses A= HT,THS

1, (H)=O, L(HD1,

Ex

[2-The fvm comeess Ts Ihezd

X=1t1e | X(HH)-1
X (HT)-2
X(TH) =1
X(M-0

Discr density
Let X be o discrete rv. The funceion € guen oy Fooy-PXex), for xe®R s colles density fonceron’ v X

Theoremn of density fhncsson

( (S G discrege depsity 16 1) Vx L0050

) fos0 Only in o Countable number of Points

2 2 Foo=1



EX

§e/eot one of the integess 1 though O at rondom Cuad deline o rv. X oS the number of ies divisevs. 1)

lnteger |1Z:§H 56 72 5 9 0

£060)-P(X=%)

Dusorsl1 £ 2 22 42 4 3 4 fi-0

£(2)-0.1401.01:01-04

Number of divisers “x \ 12|34
Vedve of £ o0 |Oﬁ\oqloﬂ05

Def cumslesive  deribueon

Pic
ek
>
(e

Q1

{Z‘BLI X

= 2P0

Let X be a discrees rv Wikh density £ The cumulotive daerbucon funceon  for X dencten by Fx is

defines by Fro=PCex), xe®

D =
I ‘\
1 ~— ,7
5 H(
%
> o——O
.6 O) X <1
0.5 - —o0
o 01, 1¢%<2
0.3
o Fx)=X05, 2¢x<3
0. L —
- ) 07,3 X<y
1 Z > <

T, XM




De;[' - Expected  wduo_

Lee X be o discreeer ru with demsicy £ The erpecses olue (m/c/cge,, mean) of X is E[y]:§x€<x>,

Ex
|ylbe,gg( 17 3 Y4 5 § 2 & 4 O
Nomber of diviors 1 2 2 3 2 Lf 2 4 34

Nowmber of div /] 2 3 l’f
Vohue of £ 010401 03 E[X]=101+2 0u+302+403=L7

Dd’gwoweé vedue of Hee
L&t X be a discrece vy with devsit, £ Lee H be seme funceon Expectea wodue of Hoo is given by E[Hzx)]:ﬂZ‘Hm(m

Ex

Hia=x", ELHol= E[xT- 0120y S0L4 v 03-82

Theoem

Lee X be o rv. Then ELaXrb2-aELXT+b, for any abef

Note

Proof %r“)ﬁ
COV\&’JE( £ & o density of X ELXrs)=Zlaxb) oo = Z axfoo Z bloo=aE[XT b

CPro 7 ot expectotions

Lee X ona ¥ be vv ECxd,EL7D <o
) EL<d=< , © © constant

2) EleX]- < Efx]

2) E[x¢+¥l- ELXEL)

£Ex
Xe{0,10003
P(xX-06):-04 EIX]-008% 100000110

P> x-= 1600)= 0.01 Vow [ X ]- 400 L, T~95

Det- Variance
Jee X be o vv with wean ELX] (/A ). The vowviance of X, denotea by Var[¥] (ox,DIx]) r= given by
Vew [X 1= EL(X-ECx2)]

,Dd;")t&ndcré deviation
Let X be o rv. wah Variance % The stddev. of X s gven by D)E;’VU;=‘I/V5,/[X]

ﬂm&ﬂ
Vor [X - ECx¥1- (ELx1Y

M Cons&wvc
Vor [x73- ELX- €0 )] - ELX 20X €L (ECN- ELx1-2ELXIE L3 «E )= ELxX-ELX D)

=
Vor[X]=83-27"101 , O=1005



?eri ot vanence

1) Vo €1=0O ) < 5 comecmt
L) Vel X ]= < Vowr LX]

) Veu S0+ Y1# Var L3 + Ver £y

buk someéeimes)

1 ToNn
A (v 3 = said to have binomicd distribution if s density £ is qiven Lo = (2)P(1-P)" OSP<, %123 n
g )

( ‘Q >= K'Q‘-KJ-'

ELX J-np, Var[XI-npli-¢)

Geometvic it ribution

foo-(-p7p |, ospeT , x=125.. 0
1 _
ELX -7, Var[X]-

©Q75329 diseribution

ﬁ(x)=ex;xy L x=0,2.. , x>0
E[X - Var[XI- )
’Dgf - Contmuous

Avv s Continuobs if it com cssume. Value in sgme intervod o imervalds of  yecd numbeS ovd  the pobakility  thet 7t Gssumes any
Povticwdor  walue is Zeso.

Dez{' ~Continupes _dersit

Lee X e o contmuoes v A function § such thet

1) L6020 for any x
2) Jfeady =1 i
32) ?’(as){sb): §\p(><>cj)< , ehn n colled  density  of X

rc )
3 £o0dx=Plos X <b)
1) P(X:Q)= jfmck{)
/ 2) Plas X< b)- Plac3X<b)- Plas X <b): PlacXab) |, if X is concims
“
B

Del

lee X be a concimuous rv. with density ' The cumuative distrbution function (€ d.€) is dencte by Fx, 71s
delinex by R 60)=P(3x)- _dfoads, xe®

@TC Symm e -
X~4 _F _i,xfméxﬂ, foso




EX

A contruous rv. X hes o tniform (Um[&,bﬁl) dsidbucon on Loobl if X falls with the same pwbability i any

Subset  (sub-incervern) (C,d)cla,b) f_§ ¢ P provided s fength IS constant
== , ¥e(tb) F O, x<&
’f(X): O , othenuse (X))~ Z—C\J x€ (G, b)
Go
1, X>b

== —f . F
L 1 Y 1
PN = [ - DA
For moth

EEX:I _2 x-Lexydx
E[H(X)]=_5‘, u(x)(}(x)clx
Ver [ X7 EL¢'] - (ELx)



Det
L&CX \ot o Continugoes Vv with &E/(\S?t7 f /ﬂ/\&/\ expected due of X 7S EEX}_,&X#(@d&

Ex | b
X~ Uni Lo, 1], Loy A5 2EXS

1(), otherw3e
b

EIXT- 2% de - |- 22
Dot

ler X be o cContinuoos vv wﬂ:‘lf\ &@Ag;%@ ﬂ(’/a exPcoseca wlue. of rv H o<, denoeed
by ELH&] is Siven by ELH<X>]:4§QH(><)1F(><)<JK

Ex
Hexy=xt, X~ Uni Lo bl

Gtiob+lo

_ b , PET
ELX]-{fv=dc=al "3

De#

L@CX be & Continuoes v Lofth density £ cnd  Wean ELX]
VOLFLXJ= Elx]- £ L]

Ex .
02+ oot ot b\+b>l a-26b bt (o-b) | (o-c)t

Vor [30)- E[x1)- Ex- - (o

D -()2—;;)"

Def ) )

A v X with density foo=Tmmer €, Where -co<mcico, 8550 have o Normad
diseribution With Powcmeters u ond ©°

12 'z 12

Remark

X~N{p,o)

ELX] u

Vor [X)- &*

Fic Expeceetions: L0 O Vordotions: oG >0s
T O O -G
o >0

Xﬂi: Xz T Ms

A vvowith Poocmesers =0,0-1 is denotes by Z ond s Called Stowdard
Normed  VYoundon  Vour icble.

Propasizion
Lee X~N(u,0%) The Voriable 22 1S Stomdord normod




Theorea T
Lee X~2nlnp) P(X- 14):(l<)P (1-P) | k:o1, n

Tor Za/ﬁc; veduvez 0f v, X = opproximacely Numed  WiEh wmecon NP
Oind voricunce NP(1-P),
a
Ex
Qo(ﬂm3 o dice (0% times X' = Number of onex clbrer volliney

32 109,7), Efxd-108 6718, Vel X =108 €(1-%)- 15

U Bxoct Colcuwdegions
Pl12¢ X <20)-2P01)- £ (71 &) (2)
Where Fis o cdf of N(01)
2 Norwdd o pproximation, ded0asis . QFF:JK e /
Pliog Xe20)x Plinss Xeros) PR« T < 2957 )- F(0645)- F(-1678)- Ocan

Remnde~ A B

B(x)=P(Z<x)= J7m e du koo @ VLE-Tobles
cdf L 2

Det

Lee X ond 7/ be disaete rus defired On the <Some  scample Spoze The
Ordesred poar (X \/> s called @ two-dimensionod (biverdtive) discrese
fondovn  Vouda ble

A function beﬁ,j% P(X=x,¥u)is called +he joint  density  for (X.V)

Hoperties
1,9 O, alk %9
Q C(x,‘j) >O only in ¢ countable nNumber 01[’ (PomtS,

= 22 (b

X
Thwee com wsmings Lth o fair com, = P(Heods)=P(Tail)- #

X:{mumby of \/\eaé_%’g run”
Y- {nomber o runs’ meximed  number of Consegutive (oin Flips that cwe
the Sowe.

Somple Potnt  Nuwmber of heods  Number of runs
HH H
HHT
HTH
HTT
THH
THT
TTH
TTT

O ===y
= MW (R
X



Number of runs 1|3 O

Ded

Let X ond V' be o bivaricive rv with joint density £, The Mo gined
density for X is Siven by ‘Fxbﬁj;%«p(lk)ﬁ

Number of hecds

x

Number of runs 1

5
P(X-

N
ool = O O ol O\
@l w[r O —

o wha| = W|"‘O N
b ON G VY




Scmple Poin ¢ Number of heods  Noumber of run

HHH ) 1
HHT 2 Z
HTH 2 3
HTT 1 J XELO,1,2,3%
THH 2 2 VES1] 2E
THT 1 3
T 1 2
7T O 1
Number of hecds
O 1 23
Number of rons 1% OO0 5
20 £ 0
2105 50O
P35 3 % 5

Del
Lez/ X ad V' be (v with ‘omt d@ﬂs&\/ fxy and  YWouwr W:Jd@/\S ties C
£, X and ¥V ore Thdependent if [, L9) = L@l for alh > cnd 9.

Ex

€>< <5 5)29 NOTS@

@(3) = 'fz fx/(g 3> #f -f (5) £ we vavjete the (a%qulp?/(t\/ we ccan
L2 =3 wedee Loy Tra perdont

Det

Lee X cand 7 be continuous rv. The ovdered Podv (X.Y) is colea
O two-divensional, Continuous (v A funcsion i, Such thot:

1 Fe, (920, ol X9

25 a9 dxdn -1 ah

2 Plog X<b ona ¢ < Ysd)= 3500, mdxds

E‘J

Cx,9)- S(xt=ey) [ osx, =¢

PX>Y)? .
2%(1 #7) doda = %

o

Lee (XY) be o twodimensionad ruv wieh ointe density (’X\/ H s o funceon
then 22 HGL ey dicree
ECHX Y=
i_z Hee 9 fem Cominuaus Remark.
1 Hx,9)= 59
2 1f X,V are independent,
ELXYI=- ELYIELva



De_;@ - Covoxionce

Let X apnd ¥ be v with means ELXT ond ELYD) The Covarianee  between

X and Y, dgﬁot% Cov(X,Y) or &%y, is Siven by
Cou(X, V)= EL(X- ECXDy-ELya)]

o
1 Vo (X+¥)= Vour () + Ve (v) +2 Cov (X,¥)

Det

Let X and ¥ be vyv with expecections ELXT cnd EE\/j) ovnd  Vowrianees
Ver XD and VerlYd The covrelouson, oy, betleen X cnd Y is given by
Cov(X.V)

1S Py = Wor Ve < | w

[ Couv(xx) _ Vow[x2
= o = - -
€ X o Mgt T Ve

' x=y Pry =V Vou B vary Vor £x3 -1
Note

Correfogion mecsures ondy Linecw depandence

Prelims

1S VEEEMS whith  choanges stcee> 10 discreee time
P AN

27 %@ colleoson of au pos=

ble swxes 1= f Loy »bnS s COlleA Swoue Sptee

5 W noinitied dstribusion A= wg >\[(,; ) \>\ LME d‘ EJ?M@/E on j SP*(’JQJ fies  the Stowting  stade
The voundomn mech QNS 1s descrilbbed b\/ TCNSItioNn Mot ix ¥ -
Every P, Sves the ProbCbrlity, thot the Sstemm Wil Change stote B ¢ )

J
n o Uit of time
5 Coch entry N D s non-negative and noe agrearer thown one T he.

- [ - N ) A 0 \ - ol /)< I
Sum of entrieg On ccod Yow Cauals & one

A

el

A sequence of rondom varales Xo with values n o finite see T is o diserete -

time  Markou dnain. (DTMC) Wah niticd dteibution A and  Goasieian mcdvix
P il for cMh U, €T, the joint probebility P(Xem 1o, X iw)= M Pty P

Det

A stete ( of MC s calted  clsorbngy £ xS impPossible to  Leave ie. (Pi=1)
A MC 3 colles clsorbing ® = has atleast one albsorbmy swwe. ond e TS
Possible 1 vecoh thot state fom all other states 6 B N0t Necessary o he
able. o do divectly +tnere

Wotrix  with these pepetiel ©  lled Stodhastic

n-1tn

Ex Theoresn :
% 1 PXe-3): (NP L P powse of wanix P

A
L
(5 Go an, “ St o
1
1

(n)
2 P ;’P(kaﬂle:L) n-step tanspion @Ewbability

POt 0 [Xerle Xorem L, Xom o PAKeT oo Xzl Kpazl) - Jiefevse -
C % ’ P(Xom oy, Xnsi) o J




Det

# v X thee toke> lues m 5012 3 IS @@ o be
Parcameter 350, it P(X-

C~ ?O sson rv weh

E

S Nona EP

X~Bm(n, P> N-—=o0 P s smelh = >\ V\P Modecese. = Pr

Then P(X=0)= ( )R-y = (1)(2)(1- ) i Nntedneren 0 Gedl —‘
‘FO\( arge

(1“ w)“& S

MJ\,H P X\

(1- %)~

Cxpectoson L \owicce
[ﬂtw’éon' X~ @m(m’ ElxJ=np , Vou [XZ-np(1-p)
YV~ (N), ELV]= LM np= X

Var Ly2=" VerLxD=np(1-p) =~ np = X

Boof B

o le y fo e r Y
EE\/:) Z =o (l 1)’ {" “ AFJ: DN

o '7-&’) < . oo -1 Mo o DR NN 7
Ely]-Z=—- =5 EJ‘"E"X%(’”J#: >§Q*i—r*+x2%9+>

Vor [YJ=ELY')-ELya=X-)% =X

\io S tic ce

Ded

A stochoseic Process Xe 15 o colbeccion of Vs That S for eoch t

in ndex T
Xe is o rondom vewiable

Nete

Markoy Chon, T-10,1,2..73
Corr of rvs, T=£1,23
(POKSOVN @@LESS) T:R

Det

Any realization of Xe is calted sawple Path For mswance , if evenes ore coatumny
voondowly sme ana Xe vepresencs the number of everts that occcwe  in [0¢],

then the somple ot of Xe, Which covesponds to the initial event OCcurpy Gt ty the Newt

Quent Gt time 3 cna  the 2hnad ot time U, 1S given bhelow.

3

) -—
(A —o

1 ~—00




Ded

A scochastic process Ne, >0 5 Soid t© be G counting Process i Ne vepresents the
terad number of ‘sents’ that hove occuwed  Up to sime t

N NezO  for every €

2) Nt (S e Jered \Clues

) Ne-Ns | €55, repredents  the numbes A cvents Lot have %QPPQM@A ™ the Lime
mterved  [S,t].

Det

A counting Process 5 <id bo fosses irdeperdent increments i the newbes OGP euenes
that occur m disjpint time Mtercds e Mdependent

Vet

A counting Process s wid o foses sotionaly Morements 1 the  dissribuson
of the numbar of evems thet Oceur ™ Gy Mierved of time depends oy on
the Z&/\geln of +he e Meervod.

Det

The counting pocess Ne s @ w© be o (0RSon Process hapmﬂ Cue. N0, T
1) No=O

Q)T%e Process hos ™dependent ™MCrements.

3) The vumber of cveats ™ Gy inteval of Lengen & Loamel_ 1S given by
P(Nees - No=i ) =R

Ex
Suppose  bhat Corthquakes occor ™M JaPom ™ cceordonce Wbk the Gssumptiuns Gbove,
Wiath A1 ond with One Weeb o the unk ¥ time

Fnd the Eokobilty thet atlecst three eowthguckeS Gecer  duvng the Next two
Lveehs,

P(Ne>3)= 1-P(No-0) - P(Na=1 )- P(Nes )= 1- & 4 €58 2 ) %52,
M ne**, %50

A contiuwots (V. with A@/\say 1[<1>= O ) Ctrerwse F(x):]‘é)x L ELxJ- %)VMEY} i,\ s whed
exponenticd

Ex

Suppose  bhat corthuakes oceor M JoPon ™ aceordence Libh the cssumptions Ghowe,

With A=1 and With One Weeh oS the une of £ime.

Find the CDF of the time, stewtmg Bowr NOW, Wutil the hexk  eorthguake

Lee X denote the amount o€ tme, N Weeks, il the New eavthgucke

PXst)- P(Ne-0)= 7F

Fy-P(Xe)=1-Pxoe )€ The Wodkimey thme  between Porssas ovems
exgonenic] ™ Gecordance o A



Stetsstcal  [nference

Ded

Statistics s the science of Collecking, SumauNzing and analyzing exPerimentd
dotc. to provAe the hass for infeence of deemons ConcerNing the true Noture of
the Population Gt Sstudy

Lx
Heasht f oo Chalwes femole sccdent
Pick 10 students ax vowdom, Mecswe thed~ hejghts X \//@ < .

—

(X

N §x X
(chujiﬁ’ 192,171,127, 124, 156, 152, 193, 172,160, 181 K K*’/‘

< — <

Del
A rondom Sampfe of stee N fom the dmsrbuton of X = o Collegsion 08 n
Tndependent (s, ecalr with the Soume ditribution as X

Notes

W

M= the true’ overaye. heights’
=

A porometes o pobubility dissibusen (Of population) © o Number cssacioesd Witk
the Ustributson (Gnd M Some. Way descriptive Of thot diStributson).

A
M —expeltation Ghd Bk - variance

Del

A swetistic & Some Speeifes Numerical fweton of obssrvat Sample wilues . .

Det
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Reaarding +he exam

1. Generotma Lounceors
How to obtcin GF for oo 9iven sequence

How t obtoin ¢ sequence 9iven o GF
Countina Problems  (Like the example with the bag of funs)

9. Moment. Generatme Funcsions

Trd o Mol for ¢ gven ditribution. Both wah  Yiven vdlues and  Genecdhy
Find Some moments of o given distributron

2 Lime Theorems
Praot’s of Markevs, Chebashey's inegucdities, Lot of dawde numbers, CLT.

H Conflidence Tptenals

C]_j fer the M, &' known
CT fer ene s O tnknowon  Csmeadg SQmP/e) & t—diseri button

CT fer &
CT L ?~PQP&,JCU@TCYW propovron

E=' How 4o canstruce an interval
i approac, N(O,1) because f CLT
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XM IR v, o Lo — = ’P — L. O - Lo
(o) P B S LL) P s Tous %2 )- P(EB-Ts o 7% )= P(X-2 < wsX-5%)



